





b) It would inevitably be overthrown by the working class.
¢) It produced insufficient goods and services to provide a decent living for all.
d) Government would never try to improve working and living conditions for

12) Suppose Adam Smith met Karl Marx in 19-th century industrial England. What
might they agree upon?
T a) contains the seeds of its own destruction.
1o C b) The workers are unfairly paid compared to businesspeople.
(B ,g Self-interest is the motivating force in the economy of the day.
- d) Capitalists pocket an unfair surplus value from production.













